Name:
Count the tens from the first part and then add the
second part. Fill in the number bond. Complete The
senftences.
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Name:

Count the tens and subtract. Fill in the number bond.
Complete The sentences.

(J gaaggan et L tens - Tens =
L 4O - 30 =

tens - tens =
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tens - tens =
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Name:

Directions: Write the missing number.

30+80=___

30+60=___

/.

HO+380 =_

o0 + 60 =

8.

30+70=___

50 + 50 =

9

/0+30=___

20 +70 =

20.

50+70=___

40 + 50 =

2

40 +70 =

40 + 20 =

22.

50 + 30 =

30 + 20 =

23

o0 + 50 =

50 + 40 =

24.

30 + 50 =

o0 + 20 =

25.

H0 + 60 =

20 + 40 =

26.

50 + 60 =

40 + 30 =

27

20 + 30 =

30 + 30 =

28,

50 + 20 =

40 + HO =

29

00 + 30 =

20 + 950 =

30.

20 + 60 =

SO E|G|S| =S| 0| N|o | o | v N —

30 + 40 =
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Name:

Directions: Write the missing number.

50+20=___

e0+30=__

/.

30+30=___

20 + 60 =

8.

H0+H0=

30 + 40 =

q

20 +950 =

60 + 40 =

20.

30 + 30 =

50 + 30 =

/il

30 + 60 =

o0 + 50 =

22.

o0 + 60 =

30 +50 =

23

50 + 50 =

H0 + 60 =

24

20 +70 =

50 + 60 =

25.

40 + 50 =

20 +30 =

260.

20 +20 =

40 + 80 =

27

40 + 20 =

30+70 =

28,

30 + 20 =

70 + 30 =

29.

50 + 40 =

50 + 70 =

30.

o0 + 20 =
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20 + 40 =
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* Name:

Directions: Write the missing number.

4H0-20=___

/0-20=____

/.

00-70=____

/0-40=___

3.

I00-60=___

60-4H0=__

9

30-20=___

30 -10=___

20.

I0-8=__

70-40=___

21,

I0-50=___

50-10=___

22.

o0-20=___

H0-10=___

23

70-40=___

0-30=___

24

0-40=___

/0-10=___

25.

00-20=___

0-30=___

26.

0-30=___

50-20=___

27.

0-20=___

HO-20=__

28,

O-10=___

50-30=__

29.

/0-20=____

70-40=___

30.

I00-20=__

SO EIF| S| =S| || N |0l £ w| N —

30-10=___

/0-30=___
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Name:

Directions: Write the missing number.

30-20=__ 7 la0-70=___
60-20=___ 8 |90-60=___
60-40=__ q [70-20=_
50-40=__ | [20.[l00-80=___
70-10=___ 21 [l00-50=___
60-40=__ | [22.]50-20=___
40-10=___ 23 [60-40=___
30-10=___ 24 [I00-40=__
50-30=__ | |25]|90-50=___
60-10=___ 26.|100-30=___
50-30=__ 27.100-20=___
40-20=___ | [28]00-10=___
30-20=___ | [29]|60-20=___
40-30=__ | [30.|90-20=___
60-40=__ le0-30=___
20-10=___
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Name:

Soc};'re using the tens and ones. Complete the number sentence tomatch the
picture.
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Name:

Solve using a number bond for the number that has tens and ones. Add
tens first. Then add the ones to the total number of tens.

62(+20=_ 371+40=_
N N
60| 2 30| 7
60+20=_ 30+40=_
80+2=_ o+ T=_
16|+ 30=_ Sl|+10=_
7\ N
—+—= +_=_
—+_= +—=_
48|+ 30 = 27/ +20=_
N 7\
—+—= +—=_
—+_= +_=_
65(+30=_ S3[+4H0=
7\ N
_+—= +—=—
—+_= & =
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Name:

Solve and SHOW YOUR WORK!
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Name:

Solve and SHOW YOUR WORK!
3/ +H2=__ 94+53=__
37
v H2
39+22=__ H9+33=_
80+22=__ TT+35=__
13+22=__ 58 +35=_




AVA

Name

Solve. Use the strategy that is easiest for you. There are four
boxes with the same sum. Color the sun in these boxes.

43 +39= __ |22 + 38

©cindysaucer
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